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Task 2 - Shade the regions on the axis below
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Task 3 - Write a possible inequality each of these graphs could represent (use n or x for notation)
H——— eiel €
=27 =26 =25 =24 -23 22 21 -1 0 1 X 3 4 5
e ———— >  G—————————>
o T T B T R B G - T, T SR .

Task 4 - Represent each of the following inequalities on a number line

1. y>2 = | | | | B 0 K B B |4 |s
2. y<2y-1 1 1 1 1 1 1 1 1 1 1
|= |2 |2 |2 I-1 0 K |2 B |2 E
3. 1<x-2<3
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Task 5 - List the integer that satisfy the inequalities below

y >3
y< 3y -3
O0<x-2<4

1 <3x+1< 13




